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ECONOMICS
( Major )

Paper : 5.4
( International Trade : Theory and Policy )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese
1. Answer the following questions : 1x7=7

o 2PPTRd e fad

(@) According to Ricardo, what is the basis
of international trade? _
ReIer Tee, wEifor e fofe &2

(b) Write True or False :
w7 SR fere
Heckscher-Ohlin model will be valid
when factor-intensities are reversal.
SAMT -2 [ Reg 2 @HR- R oy
Y291

(c) What does backward shifting of an offer
curve mean?

GO AT IF PO ARG RRIGIE

&R ?
({d) Who developed the concept of Net
Barter terms of trade?

% e qifden 5601 e TeRw FfafRE 2
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2.

20A/222

(2)

(e} What is protection?

e 62
(/i Define reciprocal demand.
AeifRe IR ket foe |
(gg What is unilateral quota?
G2 S R 2
Answer the following questions : 2x4=8
O PR Ted foe

(a) State any two factors affecting gains
from International trade.
e AT e defie w41 & @
761 ST fer |

(b) What was the empirical result of
Leontief’s study?
fermiowd SR oUfeies T fo wifee 2

(c) Define income terms of trade.
TefTete q1faen 561 ke |

(d) Give two non-economic arguments in
favour of protection.

FEF T o1 F-ALAT I gy |

Answer any three of the following questions :

5x3=15

o 2pEa R e folbE Teg forg

(a) Between classical theory and modern
theory of international trade, which one
do you think superior and why? Give
reasons in favour of your answer,
wrEEifes AfTerd SREFe OF W Sy veq
fSoge oft @O B I SR w510
(TN TETT FAACTE RO TS 4 |

( Continued )

(3)

(b) Explain the utility-linked terms of trade
by using usual notations.
Freoifae MiFfos PR I92R IR THfrer
oTCS kg MlT@E TS W 1 |

(c) Briefly explain the limitations of the
‘comparative cost advantage’ theory.
T IR R O SHREerE 5T

RURIESEIN

(d) Explain the classification of tariff on the
basis of discrimination.
Rreheer fofes wae cResms g
41 |

(e) Between tariff and quotas, which one is
superior and why?

wE e RN AR fSese @M TRe

e 92
4. Answer the following questions : 10x3=30
O PTRE Ted o
(a) Explain the factors affecting terms of
trade of a country. 10
9 (PR A T eI I IRFHR
RIRIESEIN :
Or / 341
“Trade as an engine of
growth”—Explain.
‘it weffeoe RIrR 9F e —mm
*q1 |
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(4)

(b) Define factor-abundance. What
happens to the validity of
Heckscher-Ohlin model when demand
conditions are different in two
countries? Explain with a suitable
diagram. 2+8=10
o -gipfer Sikw a1 afsw yew o
vifEa 5% for = cofom EER-g'fen ol
ReoR 3 906 2 ToRe foaq sz < 9941 |

Or / 9241

Argue the case for free trade in the
context of present global scenario. 10

Arefes e amaa cefie T afies
eie IS fn | '

(c) Discuss the various effects of tariff
under partial equilibrium analysis. 10

SRR ST Ko W Rivn aeremzs
REC SIS F47 |
Or / 9241

Define optimum tariff. Explain with a
suitable diagram how optimum tariff is
determined. 2+8=10

PRI @ 741 | Frep-ww Fuge AR T4
=, Tg@ foud si=ws i 4 |

* ok %
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